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Y um

I\P }

Ry . lgada jghaall JLil A
|A|=10m " |§| =8m

ihle cai D = A + B os

53

50—0_‘_“') 1X (i)

The figure shows two vectors

& - .
|A| = 10m ,|B|=8m
IfD=24+ B, answer the following:

find x-componenet (D,), and 48l (D) 4801 “‘-—‘-“J‘“J"“f‘ "f—‘-’i c
D 4alall (D,) sl M

)uCDmPOHCHCt (Dy) of vector D

= _"Mvﬂ\fg_,ljl_ﬂ.\h.\wi
: D and BB sall X Jgae
Find the angel between vector D an 4R
t epDSiﬁve x-aXis. ..........................................
e i S
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x(t) = a + bt + ct? UJMHMUJ@EJ\*“Z\SJ;JQ,J\AT%&?
a=12m,b=-12m/s,c =15 m/s? s 13) Ul Al pas 1 Lgia

2 =42
i = and it’s
The position vector of a car on a road is given by x(t) = a + bt + ct”,
represcnted by the graph shown below. ,

Where g = 12 m, b =-12 m/s, and ¢ = 1.5 m/s*.

AX(N)
BO‘IW“'! T T ""’_r[_ !_'m
25t ~m|i¥w¥iiv%,% ﬁ

HT | | | AT
20 |t — -l';ﬁml% 7T

. !:1" ‘ | | 144 | Ll
i

(:j‘,‘!'!_ ;“,. ‘1:.. ‘ |

\ | [ I | !\\, I}l‘ = :
5 T SERRRNRENEAER 1

‘iiNJ} |! l||'! LIu/HI‘ MI]- || L,
OI\] \\; H;; 4 k‘;”{ dviR BI'HQ\“‘ t(s)
W I
o i A AIAA
-15L a8 ‘i:li ARRRERRAREER LR

t=63Sec

Estimate based on the graph, the time when Ol (Al pas )l e -\\-A‘f‘ll-_- J-ﬁ
the car stops instantancously. LBal 5 ) oaie i ¢35 53
Find the average velocity of the car in the @ SUbeall ddaus giall Ac ) laie aa

time interval (0 Sec — 9 Sec) (0 Sec — 9 Sec) >_adl
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; 4=0 [ R A
Cm‘:’“u'“A ah‘lal‘nondu‘jl.‘nmb)nm
Y Ye— 8 ol g g i 5 a0 B Akl 5908
{ B O K175 Sec aall (3 k5w 40 m
CJ
40.0 m L75s |
A stone falls downward from point A to
point C passing by point B which is
40 m above ground. The stone takes
Y. c 1.75 Sec to fall from B to C.
calculate the velocity of the stone B Ty st ani A s @)

as it passes point B.

Find the hCight of pOi“t A from the ground- -----------------------------------------------------------------
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Lk ptB 58 (B a0 el p s

JS b (ra0n 41 o
m)awﬁapepmﬂqi‘{hﬁaeﬂm‘uaﬁon)ﬁ\

-1
Uyo = 1Z2m.s

-1
Uyo = gm.s

(r.\‘HJl Aaylia J‘h‘)
k, hits the ball from the

The goalkeeper of a football team, exccuting a goal kic
launch speed are:

playground into air, the two components of the ball's
Uy = 12m.s7!
= =1
Uy, =8m.s

(Neglect air resistance)
AU A1) A puall e Gasal (1)

Calculate the initial velocity of the ball.

Find the launch angle of the ball
with the surface of the playground.

280a 413 5 Sl Al M1 e i) laia 32l )

Find the magnitude vertical velocity
Y ksl 2 1.6 Sec

of the ball 1.6 Sec after launching.
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§5ad Lo 2 () frg ATLS i3 (§530a pd)
sl LS 9 = 20 4\ Jea
Boaiaall Gn (A gSaall ALSIAY1 G B )l ala

8.0 N s 5iuually

A wooden box of mass 2.0 kg on an
inclined plane 6 = 20 as shown in
the figure. The static friction force
between the box and the plane is

8.0 N.
Draw a free-body diagram of the box. (@gaiall all gl blada o)l (D
Would the wooden box slide on the oAl (5 el o aldd) (§gaieall (3 i A @
inclined plane? Explain your answer Aben Lo ga dEila) jud

showing your calculation.
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Mark 8 da )
Question @ It
1 D,=A,+B,
1 D, = (10 x cos 53°) + (8 x cos( —30"))
1 D,=12.95=13m
©,
1 D,=A,+B,
8 - o - o
1 D, = (10 x sin 53 ) + (8 X sin(—30))
1 D,=3.99=4m
3.99
1 gt (_y) Chie (12 95)
x ) @
1 0 =17.124°
Mark 8 da )
Question @ o)
1 _ dx(¥)
AT
d
1 v, (t) = E(lz —12t+1.5t>) = -12 + 3t @
1 v,(6) =—-12+ (3 x6) =6m/s
8 2 Any value between [3.8 — 4.2 ] (wdad gl @
_ Ax  x(t) —x,
1 V===
At t—t;
1 ﬁ=25—12 ﬁ=x(9)—x(0)=25.5 ®
9-0 9-0 9
or
1 v=1.44m/s v=1.5m/s
w
Lo
39
[a W
N~
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Mark 8 AL pal)
Question @ Sl
1 2 1 2
1 Y=YotUyt—5gtt = vy, t=Q—-y,)+59t
1 2 ©)
2 vy°t=(0—4-0)+(§x9.81xl.75)=—24.978m§—25.0m
1 _ 250 _ 442857 = —14.3
v, = 175 — i m/s = .3m/s
vy — vy
8 1 vy =vy —29(y —y,) = vy — vi =290 —Y¥,) = (y—yo)=Tg°
1 _ —14.32 — 0.0% o
OB Yolag = —o— o a1 =~ -4m ©)
1 (AY)ac = (AY)ap + (AY)Bc
1 (AY)ac = —10.4 + —40 = —50.4m
Mark 8 Aaal
Question @ SVl
1 v, = Jo,, + v,
1 v, = /122 + 82 @
1 v, = 14.42 m/s
8 1 0 = tan~ ' (Z—:) = tan—1 (%) 0 = sin—1 (I:J—):’) = Sin—1! (ﬁ) 0 = cos™ 1 (vv—’:") = Cos™ 1 (% >
1 0 =33.69 = 34° 0 = 33.69° = 34° 0 =33.69" = 34°
1 v, =v, —gt
1 v, =8—(9.81 < 1.6) ©)
1 v, = —7.696m/s = —7.7m/s
Mark Aaal
Question el
1
1 @
1
8 | 1 |Fg,| . = mgsin(6)
1 |Fy,| . =2.0x9.81x sin(20")
1 |F,.| ,=6.71N , |Fsmaxl| - =8.0N @
) — N
o0 1 |ng|x+ < |fS.max|x—
5
[a¥ 1 No , the box will not slide. (3s2iall (& 5% ¢
(o0]
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O
uony

Use the following constants and formulas when required/ a3k ks N L QR P PR A il
g =9.81m/s*
Ay = Acos(0) | E = sA = s(A,, Ay, A,) = (5A,,5A,,5A,) A+ B = |A||B|cos(a) A % B = |A||B|sin(a)
Ay =Asin(@) | T4+ F = (A:.Ay.4;) + (BrBy.B;) |A<B =(A.B,)+(A,B,)+(A.B;) | D=AXEB
tan(9) = i = ((Ax + B.). (A + By).(A; + B;)) Dy =AyB; — A.B,
Ay D, = A,B, — A,B,
A= (AZ+ A3} D,=A.B,— A,B,
_ aAx _ Awu, ., ar . dv
Y= " ar %= T TAr Ty “= dr
L3 T
duv d jdxy  dix (1) — J" Yt J[ I
L BV, & fxh dXx (t) = x, + vt ydit (B = vy L)t
= dt dit dt} dit? i Ve v +z axth
X = Xg + Uyl » Uy = Uyo + dpl ¥ = Ve b ULt » vy = Wy, — gt
Te = 3 (Ux + Vo) - UE = Vi, + 2an(x — x,) T, = 2(vy + Uy , w2 = v, — 2g(¥ — ¥.)
1
x=xn+vxnt+iaxt2 y=y,,+v,,,t—%gt2
r=(xyz2) = xX+yy+zz . U= (UL, v) U Xt v, v, . a-(a,a,a,)=ax+ay+a H|
z 2
v v
H=y, +— R = —sin(20,)
2g q
n
FM= F‘.=F1+F2+F3+ +Fn
i=1
F_.m=mﬁ fk:ﬂkﬂ | Fg=mg fsif‘:h':fs,ma:
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&l
Q3

x(n) * (B M) (335 ¢ W glai i g ¢ 59 pal) ] i AR e B Al sy A ey 8 s £ TS
s Ol (ot JS S (om0 2 08 ) i) SN Jig 10 Sie Bl & sl (om abi By 1) A0
§ 90l B ) g L (i 0 g 0y 5 )
s % el Fall 4y 0 A ) 5 i (1) gl a8
R
I fl}'f
30 pmm=mmmm————y G4
| i A car, travelling at constant velocity, passes a stationary motorcycle at a traffic light.
i i After the car overtakes the motorcycle, the motorcycle accelerates uniformly from rest for 10 Sec.
i i The Figure represents the position-time graph of both vehicles(car and motorcycle) after the traffic
A - light.
0 I 10 ~H) How long (7) it will take the motorcycle to catch up with the car?
8 Sec o i
s
6 Sec
9 Sec
d.
7 Sec

(o) /poin yla galed! cual Jg¥1 Juihl dgd jiaial | 11, ADV.PHY.C.101. | First Term Final Exam/G 11 Adv (Bridge) U}

seconds 8 gt ?5-133! V(t): n 8 el Al iad fr & (1) = % K2 — 2t A0 2 LS i) o A0 A5 puy (s 5 g AT
Tkl el =3 Sec L 19 7 b (B ) L3 sk S 1Y

1
The velocity of a race car as a function of time is v(1) = s kt® — 2t , where k , is constant, and v(t) is measured in ?, { is measured in

seconds. If its acceleration is 19 :—;at t = 3 Sec, what is the magnitude of constant k ?

—————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————

_____________________________________________________________________________________________________________________________
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A5
(£in) /adkiia phe galadt ot/ Jg¥) Jaili gl Jait | 11 ADV.PHY.C.101 | First Term Final Exam/G 11 Adv (Bridge) \_ia

Aaiall s pud) (B Gl il 05 e 51 f caa e el DA G o A asad Agaiall As gl A R0l Adliaa SYla A SSY) o g
fhgatall Sl el (uSlaadl sy G (f i) 21320 Jau gia g

The following Figures show different cases for the change in velocity of a particle moving in two dimensions over a given same time

interval, in which one the resulting change in velocity and the average acceleration are in opposite directions from the velocities?

Morth

West

G g A (S o Al Ahan B i) § Sl faual Al 35a (a2 gl
¢ 2l dal ) Ba JSA e Ao gall S jleaall

South

Rashid set off from his house, heading towards the football
playground in the park of the neighbourhood in which he lives,
which one of the paths shown in the figure represents the

A E - displacement of Rashid ?

o}
-1
=
£
o

Path(D) s

Path(B)les

Path(C)l-=
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—t

O3

(Teis) /podia pis galadt caualt/ Jo¥ Juald) Bulgd Gladet | 11.ADV.PHY. C.101. | First Term Final Exam/G 11 Adv (Bridge) |]| S B
—>
&
= TA A+ B — C Jar G50 cilgadal) Ga i
f Which of the following vectors represenits K + E — E T

&5

xfim)
A o i
10} VX g i B 3 i A5 (G 0 - pgall) e By gl JS2)
5 | T 4 g (e ) Al o 6 g s L Akl Al G S
-20 The Figure represents the (Position - time) graph of au object moving in a
straight line along the x axis.
- Choose from the drop-down list what applies to acceleration @ and velocity U ?

SRR R EE i EE R

Velocity U 4 pud! Acceleration @ /(. jed) Alaal

Increasingnag/s = Positive /i
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i
(zdap) [pdiie plic galad) auall[ J4¥1 el Jalgd jlnal 11.ADV.PHY. C.101. | First Term Final Exam/G 11 Adv (Bridge) 2/4
CH —dbaa gl 4l QA3 R (Y Ga gl H = —5K + 45 42l g8 3lc § = (6,2,1) « K = (3,4,—2) cMade
Two vectors K = (3,4,—-2) and S= (6,2,1).If H = —5K + 45, which of the following is the unit vector representation of H?
i H=9%—12)+ 142 (] E
b.
H =39% + 287 — 62
H=—12% + 9§ — 142
d.

H=14% + 99 + 122

s ) s 1 B g L 55 e B (a3 aaadl) s ) gy

6+ € 5 bt A8 ad (S 3 - A el

51+

44

34

24 The (position — time) graph for motion of a car is given as in the Figure.

1+ Which of the following represents the (velocity -time) graph of the car?

A A IR R T E R e
o
o i g
bo a
o e
A~ /‘\
-
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: : — . : : : ] 327
(g4) Jpidie sl Galadt bual)] J3¥1 Juald) 23 Glodel | 11.ADV.PHY. C.101. | First Term Final Exam/G 11 Adv (Bridge) || N £

2115.10° gl 30 (B = B, j)m aadally (A = 4% — 35 + 5 2) m 42l
¢ B Aaledl oo [mea Jids i i las i ¢ (€ = —30% + 24 2 Jm® Saagh 4aie: € B S € = A x B 4adall gls 13)
A vector (A = 4% — 37 + 52) m . and the vector ( B = B, 7)m , with an angle 115. 10° between them.

IfavectorC = A X B » Where the unit vector representation of Cis {E = —30x% + 242 )mz, which of the following correctly
represents vector B

B=6j
b.
B=—-1295
______________________________________________________________________________________________________________________________
el
I
I
|
I = o
: B=-255 L]
i
||
______________________________________________________________________________________________________________________________
d
B-107

(5 Sl B A o TR BB 54838, 0° &gl e 20 /s 46 a5 8 ik S8
L —— ; (ol g 50 g 3 050 (ot L, B 80 A 38 o) i
¥ %
] g ‘ ' \ - A child kicks a ball with 20 m/s with angel 38. 0° above horizontal.
’ . It falls at a point at the same level from which it was kicked.
- What is the range of the ball (distance from the point where the ball fell from the child)?
29.56 m
|‘ 2510
|| AZ0.7D 1 ‘l

19037 rm
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(i) [ podia e Gall) caall/ J4¥) Ja| Mg jlaiat | 11.ADV.PHY.C.101

First Term Final Exam/G 11 Adv (Bridge) m @’

STV (il LA s 5 % Gya g ¢ 90 Foam ABLoal 60 Kerm/h 48 sy i B L) SIS 13 Ll Wiga y D Jpeasll 2.5 fo doie 5aa 18,8 o a0 3 L rltind

——————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————

|‘ 135 km
______________________________________________________________________________________________________________________________

\| o |\

\| . \|

| 358 km ‘l

| 20 B
(o) [pokdie s Galall daualt/ Js¥1 (o] Aulgl sloniel | 11.ADV.PHY.C.101 First Term Final Exam/G 11 Adv (Bridge) | \_}4

t=5.585ec 235,00 oo (galall a3 g8 0 A3 gl mrlaa g (8 paleall Gpa @MSSAN) sy 1, Al As peas b BB A gl mha e (3 gatia (8130
€ AN (3 sakuall Ao pae jhiEa Le ¢ 052 Astall mhi s (§saieall Gu oS ad) RSEAY) Jalaa

A box slides on a rough horizontal table surface with an initial speed v, The friction between the box and the table surface causes the
box to stop after t — 5.5 Sec .The coefficient of Kinetic friction between the box and the table surface is 0.52 , what is the magnitude of

initial velocity of the box?

” S.1ams "

‘l 10. 4 m. s "

(i) fpddhe ybe galadl cawall/ Jo%W) Juadll dalgd Jlomdel

11.ADV.PHY. C.101. | First Term Final Exam/G 11 Adv (Bridge)) ||| NGLUIZF

15|Page

Mr.

T maa Jysadt B B phiall S dea i

s padl p ssae ga [ ATl Lgadeas S0 @ Dl 0 T 4ssan gk (X)) SFa EaEy | = (—10.0 2, 6.0 M) Aakal CAS 13
The angle & that vector T makes with the positive y axis “Vector flenglh

A 112.62° 17 m
B 02.62° 13 m
< 149.00° 11.7 rre Ifavector | = (—10.0 m, 6.0 m ). in (x,)) plane
D 59 00° 11.7 mre Which row im the table is correct 7

|| o

|| - |

| - |
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(Zoay) faadin ple g3l daall(Jg¥1 Juall) Bylgd Gloial 11.ADV.PHY.C.101 l First Term Final Exam/G 11 Adv (Bridge) ||| o C

26 M oa N hae o a8 4SSl A can) B3 Al A3al S matlie Alad Cudabis
e e Ll gea g Aiat r it AL de el
£l pglt A glia Jari

A key chain fell from the lower edge of a window in one of the residential towers 26 m high
above the ground.
What is the velocity of the key chain when it reaches the surface of the ground?

MNeglecting air resistance

|| r12.0 mss ||

|| o s ‘|

' 1 . SN B el (a3l — el | dnias Alles § jlaad gl il OIS 13)
30 =105 Nt = 0 s a3l 58k 35 Lakll L2l ddlo) L
25] :
D P B
@
515
= 0 The performance data of a car is represented by the (velocity — time) graph
shown in the figure.
|
i What is the distance travelled by the car fromt = Ostot = 10s ?
[ T R e SES SHAI TR IR R P ) .l'(;s} '

140 m
b.
260 m
_____________________________________________________________________________________________________________________________
el
|
|
i
160 m
! (]
I
e
d.
100 m
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